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log ∆L  luminance difference
threshold; ∆L= L .F Lg=630cd/m2
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KR 0,1s A
average

F=A1(F3’/F3+F4’/F4) 

A11=176.0
A21=−2.57
A31=1.0
A41=0.33

TE590−2N_1

log ∆L  luminance difference
threshold; ∆L= L .F Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
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0,25 0,44

PO 0,1s A
average

F=A1(F3’/F3+F4’/F4) 

A11=170.9
A21=−2.49
A31=1.0
A41=0.33

TE590−3N_1

log ∆L  luminance difference
threshold; ∆L= L .F Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

BM 0,1s A
average

F=A1(F3’/F3+F4’/F4) 

A11=194.0
A21=−2.67
A31=1.0
A41=0.33

TE590−4N_1

log ∆L  luminance difference
threshold; ∆L= L .F Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A
average

F=A1(F3’/F3+F4’/F4) 

A11=183.7
A21=−2.58
A31=1.0
A41=0.33

TE590−5N_1

log ∆L  luminance difference
threshold; ∆L= L .F Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s Y
average

F=A1(F3’/F3+F4’/F4) 

A11=139.8
A21=−2.36
A31=1.0
A41=0.33

TE590−6N_1

log ∆L  luminance difference
threshold; ∆L= L .F Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s Y
average

F=A1(F3’/F3+F4’/F4) 

A11=177.9
A21=−2.46
A31=1.0
A41=0.33

TE590−7N_1

log ∆L  luminance difference
threshold; ∆L= L .F Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

PO 0,1s B
average

F=A1(F3’/F3+F4’/F4) 

A11=112.8
A21=−2.05
A31=1.0
A41=0.33

TE590−8N_1

log ∆L  luminance difference
threshold; ∆L= L .F Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s B
average

F=A1(F3’/F3+F4’/F4) 

A11=50.05
A21=−1.85
A31=1.0
A41=0.33

TE591−1N_1

log ∆L  luminance difference
threshold; ∆L= L .F Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

BM 0,1s R
average

F=A1(F3’/F3+F4’/F4) 

A11=106.8
A21=−1.94
A31=1.0
A41=0.33

TE591−2N_1

log ∆L  luminance difference
threshold; ∆L= L .F Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s R
average

F=A1(F3’/F3+F4’/F4) 

A11=111.5
A21=−1.84
A31=1.0
A41=0.33

TE591−3N_1

log ∆L  luminance difference
threshold; ∆L= L .F Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s G
average

F=A1(F3’/F3+F4’/F4) 

A11=68.25
A21=−2.15
A31=1.0
A41=0.33

TE591−4N_1

log ∆L  luminance difference
threshold; ∆L= L .F Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,Y
average

F=A1(F3’/F3+F4’/F4) 

A11=183.7
A21=−2.58
A31=1.0
A41=0.33

TE591−5N_1

log ∆L  luminance difference
threshold; ∆L= L .F Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,B
average

F=A1(F3’/F3+F4’/F4) 

A11=183.7
A21=−2.58
A31=1.0
A41=0.33

TE591−6N_1

log ∆L  luminance difference
threshold; ∆L= L .F Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A,R
average

F=A1(F3’/F3+F4’/F4) 

A11=183.7
A21=−2.58
A31=1.0
A41=0.33

TE591−7N_1

log ∆L  luminance difference
threshold; ∆L= L .F Lg=630cd/m2
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AD 0,1s A,G
average

F=A1(F3’/F3+F4’/F4) 

A11=183.7
A21=−2.58
A31=1.0
A41=0.33

TE591−8N_1

log ∆L  luminance difference
threshold; ∆L= L .F Lg=630cd/m2
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KR 0,1s A,Y
average

F=A1(F3’/F3+F4’/F4) 

A11=176.0
A21=−2.57
A31=1.0
A41=0.33


